MAT2500-01/03 21S Quiz4  Print Name (Last, First) |

Show all work, including mental steps. in a clearly organized way that speaks for itself. Use proper mathematical
notation, IDENTIFYING expressions by their proper symbols (introducing them if necessary), and use EQUAL
SIGNS and arrows when appropriate. Always SIMPLIFY expressions. BOX final short answers. LABEL parts of
problem. Keep answers EXACT (but give decimal approximations for interpretation). Indicate where technology is
used and what type (Maple. GC). Only use technology to CHIECK hand calculations, not substitute for them.

Given the vector-valued function 7(!) = (cos(l), 1, % sin(2 I)) for the

. (4 . . . .
domain7=0.. (no credit for unidentified expressions):

2
_)
a) Evaluate _r)'(l), —;" 1), |7'(l)|, T (/) and remember to simplify your
results.
>(
b) Evaluate _r)(%[) 7(? J, 7"(?) T(?J and remember to

simplify your results.

. : > (7 > (7
¢) Evaluate the exact angle 0 in radians between r 3 and r 3

and a single decimal place approximation in degrees. Does it seem
compatible with the figure, which shows the position vector from the
origin, the first and second derivatives and the latter's projections with
respect to the unit tangent? Why?

d) Evaluate the scalar projection a, of a=7" ( ? ) along rs ( —ff ] .
J J

e) Write the simplified equation for the plane containing the first and second derivatives as shown in the figure.
What is its distance from the origin to 3 decimal places?

> solution ™™k o ITMDI= {443 o
) e _ _ "‘l ._Z 3
@ P= <eost, €, I A= 250707 4-23:,3

r—"[:,’ <-—Slﬂ‘t) 5‘) OO$Z£>

Fl= &-cost, 0>~2 sn2t D

cose-‘—T(%ﬁ‘G'—‘- 7‘:\'\[— <3, 2,717 ] 7 (~\,0,7287

Lo (3 +2(3) =§EF-
o w3 = TN

¥ \enowning
0° '§1n‘Hr)en Lt bedlpare, even Y1¢
u\ﬂa'l“ang e we ave vra agth= pleme of

r anclr

CD Oll = T(E)'a= J“'(-@)?)-I7' —‘24"1) 0)"?&3)
Z (BAWH) = ,.\(i 1((;
2 )« TNE) =T EHO Y

AR —
(F= V4 st + ost2e

__/F_: B _ (st L, s 2€7

= (st H oSt
(1 eemits ws?2b

W3

A== 43
U)SI_E:-%-. CGSS

lf\

~

e <5 AE =GP
P =<-ga 1, -4y 23 e

4
2

e)ﬂ

= - combvn
\?‘(%‘)FW -G M—ﬁ? < 43, 52 ¢

N
T = Lo 2,1

(B = 2( — o,—Z(‘C’» <3 0B =




NMat25060-001/03 246 Qur T answerley (2

— = 23z m
e) comued.  Plane v [4VEX OV 2% = 2Y +%J

—

- 7\ " o= (ﬁ’lﬁ\ Pr‘ojed— chcra’ndq
/ - VECWdluﬂs ﬂoma]
: avvre dio
d
=g
Q
ﬂ
Nn = a3, 5,727 A
=4 = (@:?7
= po+25+4 =77 N
(h 1=\ 3ue , =
?(%j": ‘<@74W)3V3>
2>
Ao — G, €T 3@7-<4ﬁ1712
e g T —
Z‘tw.; combire
'.:l,'B\rfS
-~ 233 ¥ 5T
227 2 w2 099277 R

-Ifm'go\"ilﬂlg (as\—\;qri— So was hymj fo squeeze 'H"*eso\u‘\'lon oo \lecﬁ_
Onhwdl.  Chall it up o absent - minded bob.




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

